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Quiz: Adding and Subtracting Radicals

Question 1a of 15 ( 3 Adding and Subtracting Radicals 92023 )

Maximum Attempts:

Question Type:
Maximum Score:
Question:

Choice| Feedback

. 10./7 |Correct!

1

Multiple Choice

2

Which choice is equivalent to the expression below?

28 +8.7

|r:.|.osz

Global Incorrect Feedback

The correct answer is: 10.f7 .

Question 1b of 15 ( 3 Adding and Subtracting Radicals 295475 )

Maximum Attempts:

Question Type:
Maximum Score:
Question:

Choice| Feedback

. ‘12 | Correct!

1

Multiple Choice

2

Which choice is equivalent to the expression below?

, —
B L e

Global Incorrect Feedback

The correct answer is:

Question 1c of 15 (3 Adding and Subtracting Radicals 295476 )

Maximum Attempts:

Question Type:
Maximum Score:
Question:

1

Multiple Choice

2

Which choice is equivalent to the expression below?
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Alg
Choice| Feedback
‘£ | Correct!
B. 1t
C. Ty
D. | 024

Global Incorrect Feedback

The correct answer is: [ & .

Question 2a of 15 ( 3 Adding and Subtracting Radicals 92024 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the expression below?

N

Choice| Feedback
4,f2  |Correct!

Global Incorrect Feedback

The correct answer is: 4,2 .

Question 2b of 15 ( 3 Adding and Subtracting Radicals 295477 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the expression below?

Choice| Feedback
A.
*B. Correct!

4
D.

Global Incorrect Feedback

The correct answer is:
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Question 2c of 15 ( 3 Adding and Subtracting Radicals 295478 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

Choice| Feedback

. 247 |Correct!

1

Multiple Choice

2

Which choice is equivalent to the expression below?

‘JF— WJE_

Global Incorrect Feedback

The correct answer is: 7.7 .

Question 3a of 15 (3 Adding and Subtracting Radicals 92025 )

Maximum Attempts:

Question Type:
Maximum Score:
Question:

Choice| Feedback

A |70

B. |[18.f0

c. 1310

. 10,10 | Correct!

1

Multiple Choice

2

Which choice is equivalent to the expression below?

510 + /40 +.80

Global Incorrect Feedback

The correct answer is: 10:/10 .

Question 3b of 15 (3 adding and Subtracting Radicals 295479 )

Maximum Attempts:

Question Type:
Maximum Score:
Question:

Choice| Feedback
A.
B.
*C. Correct!
D.

1

Multiple Choice

2

Which choice is equivalent to the expression below?
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C:

Global Incorrect Feedback

The correct answer is: 13./10 .

Question 3c of 15 ( 3 Adding and Subtracting Radicals 295480 )
Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the expression below?
Y S|

Choice| Feedback
7410 | Correct!

B. |18,10
c. 120
p. | 10,10

Global Incorrect Feedback

The correct answer is: 7410 .

Question 4a of 15 ( 3 Adding and Subtracting Radicals 92026 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the expression below?

VT -7 + B

Choice| Feedback

A | 293
B. |21,3

*D.

Global Incorrect Feedback

The correct answer is:

Question 4b of 15 (3 Adding and Subtracting Radicals 295481 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the expression below?
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Alg
Choice| Feedback
L4 |Correct!
B. |21./3
c. |33
D. |53

This version of Total HTML Converter is unregistered.

Global Incorrect Feedback

2
]

The correct answer is: 4.,

Question 4c of 15 ( 3 Adding and Subtracting Radicals 295482 )

Maximum Attempts: 1
Question Type:

Maximum Score: 2
Question:

Multiple Choice

Which choice is equivalent to the expression below?

S0 - N5+ S

Choice| Feedback
Lo Correct!
B. 8] *-.'. 1
C. |95
D. | 2.5

Global Incorrect Feedback

The correct answer is: J-/*

Question 5a of 15 (3 Adding and Subtracting Radicals 92027 )

Multiple Choice

Which choice is equivalent to the expression below?

Maximum Attempts: 1
Question Type:
Maximum Score: 2
Question:
Choice Feedback
A. |-x?
*B. Correct!
0

Global Incorrect Feedback

The correct answer is:
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Question 5b of 15 ( 3 Adding and Subtracting Radicals 295483 )
Maximum Attempts: 1

Question Type:

Maximum Score:

Multiple Choice
2

Question: Which choice is equivalent to the expression below?
ENT —LudT o ST
Choice Feedback
A. |-x2
B. |0
. ST — 5+ )7 | Correct!
D. | -2x.f7

Global Incorrect Feedback

The correct answer is: €47 — £ .47 .

Question 5c of 15 (3 Adding and Subtracting Radicals 295484 )
Maximum Attempts: 1

Question Type:

Maximum Score:

Multiple Choice
2

Question: Which choice is equivalent to the expression below?
(37 faniT w7
Choice Feedback
A. |-x2
B. |-2x.f7
C. |0
’7 R-lf ks | Correct!

Global Incorrect Feedback

The correct answer is: -7 — R~ ' .

Question 6a of 15 (3 adding and Subtracting Radicals 92028 )

Maximum Attempts: 1

Question Type:

Maximum Score:

Multiple Choice
2

Question: Which choice is equivalent to the expression below?
Choice Feedback
A.
*B. Correct!
C.
D.

6/11/2012
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Global Incorrect Feedback

The correct answer is: Fx+/2 - 3.2 .

Question 6b of 15 (3 adding and Subtracting Radicals 295485 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which choice is equivalent to the expression below?
I B o S ]
Choice Feedback

A |32

B. ! k;"l \,J',_-_

C. |z2x%2

i 7. 2 2.2 | Correct!

Global Incorrect Feedback

The correct answer is: 75,7 _ 7.7 .

Question 6c of 15 (3 Adding and Subtracting Radicals 295486 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which choice is equivalent to the expression below?
Teds oA
Choice Feedback

I -JTf 4 'Ij Correct!

B. |Bx2-32

12

Global Incorrect Feedback

The correct answer is:

Question 7a of 15 ( 3 Adding and Subtracting Radicals 92029 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the expression below when y 0?
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Alg
Choice Feedback
A. W_Sy_\ll'y_
B. | v 10y —3y.fy
C. |-2v 1Ty
vy Correct!

Question 7b of 15 ( 3 Adding and Subtracting Radicals 295487 )

Maximum Attempts:
Question Type:
Maximum Score:

1

Global Incorrect Feedback

The correct answer is: yﬂ.

Multiple Choice

2

Which choice is equivalent to the expression below when y = 0?

— f—

S
|

. IR B
'\Ilr' "-1—L AR

Question:

Choice Feedback
A. ,’F_ 2,0
B. |v.F, .0,
FQ{E Correct!
D. T

Question 7c of 15 (3 Adding and Subtracting Radicals 295488 )

Maximum Attempts:
Question Type:

Maximum Score:

1

Global Incorrect Feedback

The correct answer is: FJF.

Multiple Choice

2

Which choice is equivalent to the expression below when y 0?

Question:
Choice Feedback
A.
*B. Correct!
C.
D.
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Global Incorrect Feedback

The correct answer is:

6/11/2012
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Question 8a of 15 ( 3 Adding and Subtracting Radicals 92030 )
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which choice is equivalent to the expression below when x = 0?

B0 — 2557 1847 — 2

Choice | Feedback
A. |52

i 43x.,/2x | Correct!

C. |4.fx
D. |28,/

Global Incorrect Feedback

The correct answer is: 4 x. /2y .

Question 8b of 15 ( 3 adding and Subtracting Radicals 295489 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the expression below when x = 0?
T R TSI

Choice | Feedback

A. SR
B. |4x/2x

. 3+, | Correct!

Global Incorrect Feedback

The correct answer is:

Question 8c of 15 ( 3 Adding and Subtracting Radicals 295490 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the expression below when x 07

Choice | Feedback
*A. Correct!
B.
C.
D.
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Global Incorrect Feedback

—_—
e

The correct answer is:

Question 9a of 15 ( 1 Adding and Subtracting Radicals 117952 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:
Choice| Feedback
True Correct!
B. |False

1
True-False
2

You can add radical expressions by combining like terms and then adding
them together.

Global Incorrect Feedback

The correct answer is: True.

Question 9b of 15 (: Adding and Subtracting Radicals 295491 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:
Choice| Feedback
True Correct!
B. |False

1
True-False
2

You can add radical expressions by combining like terms and then adding
them together.

Global Incorrect Feedback

The correct answer is: True.

Question 9c of 15 ( 1 Adding and Subtracting Radicals 295492 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:

Choice| Feedback
*A.| True Correct!
B. |False

1
True-False
2

You can add radical expressions by combining like terms and then adding
them together.

Global Incorrect Feedback

The correct answer is: True.

Question 10a of 15 ( 1 Adding and Subtracting Radicals 117954 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:

1
Multiple Choice
2

Two radical expressions are called like terms if they have the same degree
and the same ____
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Alg
Choice Feedback
A. |number
B. |radical
radicand Correct!
D. |term

E. |denominator

Global Incorrect Feedback

The correct answer is: radicand.

Question 10b of 15 ( 1 Adding and Subtracting Radicals 295493 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Two radical expressions with the same degree and the same _____ are called
like terms.
Choice Feedback
A. |number
radicand Correct!
C. |radical
D. |term
E. |denominator
Global Incorrect Feedback
The correct answer is: radicand.
Question 10c of 15 (1 Adding and Subtracting Radicals 295494 )
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Two radical expressions are called like terms if they have the same degree
and the same ____
Choice Feedback
A. |number
B. |radical
C. |denominator
D. |term
*E.|radicand Correct!
Global Incorrect Feedback
The correct answer is: radicand.
Question 11a of 15 ( 2 Adding and Subtracting Radicals 117958 )
Maximum Attempts: 1
Question Type: True-False
Maximum Score: 2
Question: If you need to add radical expressions that have different radicands, you

should determine whether you can subtract a radical expression and then
combine like terms.
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Choice| Feedback
A. |True
7 False |Correct!

Global Incorrect Feedback

The correct answer is: False.

Question 11b of 15 (2 adding and Subtracting Radicals 295495 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:

Choice| Feedback
A. |True

False |Correct!

1
True-False
2

If you need to add radical expressions that have different radicands, you
should determine whether you can subtract a radical expression and then

combine like terms.

Global Incorrect Feedback

The correct answer is: False.

Question 11c of 15 (2 Adding and Subtracting Radicals 295496 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:

Choice| Feedback
A. |True

False |Correct!

1
True-False
2

If you need to add radical expressions that have different radicands, you
should determine whether you can subtract a radical expression and then

combine like terms.

Global Incorrect Feedback

The correct answer is: False.

Question 12a of 15 (3 Adding and Subtracting Radicals 117960 )

Maximum Attempts:

Question Type:
Maximum Score:

Question:
Choice| Feedback
A.
*B. Correct!
D. |25

1

Multiple Choice

2

Which choice is equivalent to the expression below?

+
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Alg

Global Incorrect Feedback

The correct answer is: 545 .

Question 12b of 15 ( 3 Adding and Subtracting Radicals 295497 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:
Choice| Feedback
A. |-5.f5
B. |25
c. |5
t_l-\‘J':l Correct!

1

Multiple Choice

2

Which choice is equivalent to the expression below?

I
ap

Ep=T]

Global Incorrect Feedback

The correct answer is: Z+/% .

Question 12c of 15 (3 Adding and Subtracting Radicals 295498 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:
Choice| Feedback
245 |Correct!
B. | =-i=
,E
D. |25

1

Multiple Choice

2

Which choice is equivalent to the expression below?

P

Global Incorrect Feedback

The correct answer is:

Question 13a of 15 (3 adding and Subtracting Radicals 117970 )

Maximum Attempts:

Question Type:

Maximum Score:

Question:

1

Multiple Choice

2

Which choice is equivalent to the expression below?

+
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Choice| Feedback
A |33
B. |52
51,,@ Correct!

This version of Total HTML Converter is unregistered.

Alg

Global Incorrect Feedback

The correct answer is: Eﬁ.

Question 13b of 15 (3 adding and Subtracting Radicals 295499 )

Maximum Attempts:

Question Type:
Maximum Score:

Question:

Choice

Feedback

Correct!

1

Multiple Choice

2

Which choice is equivalent to the expression below?.

Global Incorrect Feedback

The correct answer is: 7.7 .

Question 13c of 15 (3 Adding and Subtracting Radicals 295500 )

Maximum Attempts:

Question Type:
Maximum Score:

Question:
Choice| Feedback
A.
*B. Correct!
C.
D.

1
Multiple Choice
2

Which choice is equivalent to the expression below?.

Global Incorrect Feedback

The correct answer is:
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Question 14a of 15 ( 3 Adding and Subtracting Radicals 117972 )
Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the expression below?

342 + 4B + . f8

Choice| Feedback

i 8.2 [Correct!

Global Incorrect Feedback

The correct answer is: 5,2 .

Question 14b of 15 (3 adding and Subtracting Radicals 295501 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the expression below?
2-\"-__|+ -\.r? - ﬂ'g

Choice| Feedback

. Iy Correct!

Global Incorrect Feedback

The correct answer is: 7™ .

Question 14c of 15 (3 Adding and Subtracting Radicals 295502 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the expression below?

Choice| Feedback
A.
B.
*C. Correct!
D.
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Alg

Global Incorrect Feedback

The correct answer is: =~ .

Question 15a of 15 ( 3 Adding and Subtracting Radicals 117976 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which choice is equivalent to the expression below?
418 + ..|I'2|:|;;;3 - Bxyf7E
Choice Feedback
2x(f5x - 19 )| Correct!
B. | +Ex - 19

C. |2x5x
D. |2xf19

Global Incorrect Feedback

The correct answer is: Ex(«."Ex - ﬂ]l

Question 15b of 15 ( 3 Adding and Subtracting Radicals 295503 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which choice is equivalent to the expression below?
dxa19 + ..|I'2|:|;;;3 - 3xaf7E
Choice Feedback
A. | 2x5x
5% - 19
*C. Correct!
D.

Global Incorrect Feedback

The correct answer is:

Question 15c of 15 (3 Adding and Subtracting Radicals 295504 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the expression below?
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Alg
Choice Feedback
A. | 2x 19
3% - 13
C. |2:xy5x
2x(J5x% - 19 )| Correct!
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Global Incorrect Feedback

The correct answer is: 2x(~f5x - 19 ).
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